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If tan𝛉 = 
𝐚

𝐛
, find the value of 

𝐚 𝐬𝐢𝐧 𝛉−𝐛𝐜𝐨𝐬 𝛉

𝐚 𝐬𝐢𝐧 𝛉+𝐛𝐜𝐨𝐬 𝛉
.

यदि tan𝛉 = 
𝐚

𝐛
, तो 

𝐚 𝐬𝐢𝐧 𝛉−𝐛𝐜𝐨𝐬 𝛉

𝐚 𝐬𝐢𝐧 𝛉+𝐛𝐜𝐨𝐬 𝛉
ज्ञात कीजिए।

a. 
𝐚𝟐+𝐛𝟐

𝐚𝟐−𝐛𝟐
b. 

𝐚𝟐−𝐛𝟐

𝐚𝟐+𝐛𝟐
c. 𝐚𝟐𝐛𝟐 d. 

𝐛𝟐 − 𝐚𝟐
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If cot𝛉 = 2, find the value of 
𝟓 𝐬𝐢𝐧 𝛉−𝟐𝐜𝐨𝐬 𝛉

𝟓 𝐬𝐢𝐧 𝛉+𝟐𝐜𝐨𝐬 𝛉
.

यदि cot𝛉 = 2, तो
𝟓 𝐬𝐢𝐧 𝛉−𝟐𝐜𝐨𝐬 𝛉

𝟓 𝐬𝐢𝐧 𝛉+𝟐𝐜𝐨𝐬 𝛉
ज्ञात कीजिए।

a. 1/9       b. 1/8       c. 1            d. 0
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If 𝐭𝐚𝐧𝟗𝟎 = 𝐚

𝐛
, find the value of 

𝐬𝐞𝐜𝟐𝟖𝟏𝟎

𝟏+𝐜𝐨𝐭𝟐𝟖𝟏𝟎
.

यदि 𝐭𝐚𝐧𝟗𝟎 =
𝐚

𝐛
, तो

𝐬𝐞𝐜𝟐𝟖𝟏𝟎

𝟏+𝐜𝐨𝐭𝟐𝟖𝟏𝟎
ज्ञात कीजिए।

a. 
𝐚

𝐛
b. 

𝐛

𝐚
c. 

𝐛𝟐

𝐚𝟐
d. 

𝐚𝟐

𝐛𝟐
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If 𝐜𝐨𝐬𝛉 + 𝐜𝐨𝐬𝟐𝛉 = 𝟏; find 𝐬𝐢𝐧𝟖𝛉 + 𝟐𝐬𝐢𝐧𝟔𝛉 + 𝐬𝐢𝐧𝟒𝛉.
यदि 𝐜𝐨𝐬𝛉 + 𝐜𝐨𝐬𝟐𝛉 = 𝟏;तो 𝐬𝐢𝐧𝟖𝛉 + 𝟐𝐬𝐢𝐧𝟔𝛉 + 𝐬𝐢𝐧𝟒𝛉 ज्ञात 
कीजिए।
a. 0               b. – 1                c. 1                d. 2
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If 𝐬𝐞𝐜𝛉 − 𝐭𝐚𝐧𝛉 = 𝟑; find 𝐜𝐨𝐬𝛉 + 𝐬𝐢𝐧𝛉.
यदि 𝐬𝐞𝐜𝛉 − 𝐭𝐚𝐧𝛉 = 𝟑; तो 𝐜𝐨𝐬𝛉 + 𝐬𝐢𝐧𝛉 ज्ञात कीजिए।
1. 5/7             2. 7/5               3. -1/5                 
4. Either (2) or (3)
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If 𝟓𝐬𝐢𝐧𝛉 + 𝟏𝟐𝐜𝐨𝐬𝛉 = 𝟏𝟑; find the value of 𝟓𝐜𝐨𝐬𝐞𝐜𝛉 +
𝟏𝟐𝐬𝐞𝐜𝛉.
यदि 𝟓𝐬𝐢𝐧𝛉 + 𝟏𝟐𝐜𝐨𝐬𝛉 = 𝟏𝟑; तो 𝟓𝐜𝐨𝐬𝐞𝐜𝛉 + 𝟏𝟐𝐬𝐞𝐜𝛉का 
मान ज्ञात कीजिए।
a. 13         b. 12        c. 26        d. None 
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If 𝐚𝟐 − 𝐛𝟐 𝐬𝐢𝐧𝛉 + 𝟐𝐚𝐛𝐜𝐨𝐬𝛉 = 𝐚𝟐 + 𝐛𝟐; find the value 
of 𝐬𝐢𝐧𝛉.
यदि 𝐚𝟐 − 𝐛𝟐 𝐬𝐢𝐧𝛉 + 𝟐𝐚𝐛𝐜𝐨𝐬𝛉 = 𝐚𝟐 + 𝐛𝟐; तो 𝐬𝐢𝐧𝛉 का 
मान ज्ञात कीजिए।

a. 
𝐚𝟐−𝐛𝟐

𝐚𝟐+𝐛𝟐
b. 

𝟐𝐚𝐛

𝐚𝟐+𝐛𝟐
c. 

𝟐𝐚𝐛

𝐚𝟐−𝐛𝟐
d. 

None
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If 𝟗𝟎𝟎 ≤ 𝛉 ≤ 𝟏𝟖𝟎𝟎 and 𝟒𝐜𝐨𝐬𝟐𝛉 − 𝟑 𝟑𝐜𝐨𝐬𝛉 − 𝟑 = 𝟎; find 
𝐬𝐢𝐧𝟐𝛉 − 𝐜𝐨𝐬𝟐𝛉.
यदि 𝟗𝟎𝟎 ≤ 𝛉 ≤ 𝟏𝟖𝟎𝟎 और 𝟒𝐜𝐨𝐬𝟐𝛉 − 𝟑 𝟑𝐜𝐨𝐬𝛉 − 𝟑 = 𝟎; 
𝐬𝐢𝐧𝟐𝛉 − 𝐜𝐨𝐬𝟐𝛉 ज्ञात कीजिए.

a. 1               b. 0                   c. −
𝟑

𝟒
d. 5/8
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If 𝐬𝐢𝐧𝛉𝐬𝐞𝐜𝟐𝛉 = 𝟐

𝟑
, 𝟎 < 𝛉 < 𝟗𝟎𝟎, the value of

𝐭𝐚𝐧𝟐𝛉 + 𝐜𝐨𝐬𝟐𝛉 is: 
यदि 𝐬𝐢𝐧𝛉𝐬𝐞𝐜𝟐𝛉 =

𝟐

𝟑
, 𝟎 < 𝛉 < 𝟗𝟎𝟎, 𝐭𝐚𝐧𝟐𝛉 + 𝐜𝐨𝐬𝟐𝛉 का 

मान ह:ै

a.
𝟕

𝟔
b. 

𝟏𝟏

𝟏𝟐
c. 

𝟏𝟑

𝟏𝟐

c.
𝟓

𝟒
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𝟐 − 𝐜𝐨𝐬𝟐𝛉 = 𝟑𝐬𝐢𝐧𝛉𝐜𝐨𝐬𝛉; 𝟎𝟎< 𝛉<𝟗𝟎𝟎; find 𝐜𝐨𝐭𝟐𝛉.
𝟐 − 𝐜𝐨𝐬𝟐𝛉 = 𝟑𝐬𝐢𝐧𝛉𝐜𝐨𝐬𝛉; 𝟎𝟎< 𝛉<𝟗𝟎𝟎; 𝐜𝐨𝐭𝟐𝛉 ज्ञात कीजिए.
a. 1 or 4          b. 1 or 2              c. 1 or 1/4             
d. 1 or 1/2
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If 𝛉 is an acute angle and 𝐜𝐨𝐬𝟐𝛉 + 𝐜𝐨𝐬𝟒𝛉 = 𝟏; then 
find the value of 𝐭𝐚𝐧𝟐𝛉 + 𝐭𝐚𝐧𝟒𝛉.
यदि 𝛉 एक न्यून कोण ह ैऔर 𝐜𝐨𝐬𝟐𝛉 + 𝐜𝐨𝐬𝟒𝛉 = 𝟏;तो
𝐭𝐚𝐧𝟐𝛉 + 𝐭𝐚𝐧𝟒𝛉 का मान ज्ञात कीजिए।
a. 0               b. – 1                 c. 1                 d. 
2 
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Thank You
धन्यवाद


